A1B5C8D6 E3F7 G2 H4
A1B6 C8 D3 E7 F4 G2 H5
A1B7C4 D6 E8 F2 G5 H3
A1B7 C5D8E2F4 G6 H3
A2 B4 C6 D8 E3F1 G7 H5
A2B5C7 D1 E3 F8 G6 H4
A2B5C7 D4 E1F8G6 H3
A2B6C1D7E4AF8 G3H5
A2B6 C8 D3E1 F4 G7 H5
A2B7 C3 D6 E8 F5 G1 H4
A2B7C5D8 E1 F4 G6 H3
A2B8C6 D1E3F5G7 H4
A3B1C7D5E8F2 G4 H6
A3 B5C2D8E1F/7 G4 H6
A3 B5C2D8E6F4 G7 H1
A3B5C7 D1 E4 F2 G8 H6
A3 B5C8 D4 E1F7 G2H6
A3B6C2D5ES8F1 G/ H4
A3B6 C2D7E1F4G8H5
A3 B6 C2 D7 E5 F1 G8 H4
A3 B6C4AD1ES8F5G7 H2
A3B6C4 D2E8F5G7 H1
A3B6 C8 D1 E4F7 G5 H2
A3B6C8D1ESF/ G2H4
A3 B6C8D2E4F1G7H5
A3 B7 C2D8E5F1 G4 H6
A3 B7 C2 D8 E6 F4 G1 H5
A3 B8C4 D7 E1F6G2H5
A4B1C5D8E2 F7 G3H6
A4B1C5D8E6 F3G7 H2
A4 B2 C5D8E6 F1 G3H7
A4 B2 C7 D3 E6 F8 G1 H5
A4B2C7D3E6 F8 G5 H1
A4 B2 C7 D5 E1F8 G6 H3
A4 B2 C8D5E7 F1 G3 H6
A4 B2 C8 D6 E1 F3 G5 H7
A4 B6 C1 D5 E2 F8 G3 H7
A4B6 C8D2E7 F1 G3H5
A4B6 C8 D3E1 F7 G5 H2
A4 B7 C1 D8 E5F2 G6 H3
A4B7 C3D8E2F5G1H6
A4B7C5D2E6F1G3H8
A4 B7 C5D3E1F6 G8H2
A4B8 C1D3E6F2G7 H5
A4B8C1D5E7 F2 G6 H3
A4 B8 C5 D3 E1F7 G2 H6
A5B1C4 D6 E8 F2 G7 H3
A5B1C8D4E2F7 G3H6
A5B1C8D6 E3 F7 G2 H4
A5 B2 C4 D6 E8 F3 G1 H7
A5B2C4 D7 E3F8 G6 H1



A5B2C6 D1 E7 F4 G8 H3
A5B2C8D1E4F7 G3H6
A5B3C1 D6 E8 F2 G4 H7
A5B3C1D7E2F8G6 H4
A5B3C8D4 E7 F1G6 H2
A5B7 C1 D3 E8 F6 G4 H2
A5B7C1 D4 E2 F8 G6 H3
A5B7 C2 D4 E8 F1 G3 H6
A5B7C2D6 E3 F1 G4 H8
A5B7 C2 D6 E3 F1 G8 H4
A5B7C4 D1 E3F8 G6 H2
A5B8C4 D1 E3F6 G2 H7
A5B8C4 D1 E7 F2G6 H3
A6B1C5D2E8F3 G/ H4
A6B2C7D1E3F5G8H4
A6B2C7D1E4F8 G5 H3
A6 B3 C1D7E5F8 G2 H4
A6 B3 C1D8E4F2G7H5
A6 B3 C1 D8 E5 F2 G4 H7
A6B3C5D7E1F4G2H8
A6 B3 C5D8E1F4G2H7
A6 B3 C7 D2 E4 F8 G1 H5
A6 B3 C7 D2 E8 F5 G1 H4
A6B3C7D4E1F8G2H5
A6 B4 C1D5E8F2G7 H3
A6B4 C2D8E5F7 G1H3
A6B4C7D1E3F5G2HS8
A6B4C7D1E8F2G5H3
A6B8C2D4ELF7 G5H3
A7B1C3 D8 E6 F4 G2 H5
A7B2CAD1E8F5G3H6
A7 B2 C6 D3 E1 F4 G8 H5
A7 B3 C1D6 E8 F5 G2 H4
A7B3C8D2E5F1G6H4
A7B4C2D5E8F1 G3H6
A7B4 C2D8 E6 F1 G3H5
A7B5C3D1E6 F8 G2 H4
A8B2C4D1E7F5G3H6
A8B2C5D3E1F7 G4 H6
A8B3C1D6 E2 F5 G7 H4
A8B4 C1D3E6F2G7H5

class queens {
public static void main(String [] args) {
inti;

int pos[]={-1,-1,-1,-1-1,-1-1-1};
boolean zeile[]={true, true, true, true, true, true, true, true} ;



boolean spalte]]={true, true, true, true, true, true, true, true};

boolean diagl[]={true, true, true, true, true, true, true, true, true, true, true, true, true, true,
true};

boolean diag2[]={true, true, true, true, true, true, true, true, true, true, true, true, true, true,
true};

positioniere(1, pos, zeile, spalte, diagl, diag2);

}

public static void positioniere(int i, int[] pos, boolean[] zeile, boolean[] spalte, boolean[]
diagl, boolean[] diag2) {
int posl, pos2, pos3, pos4, posb, pos6, pos7, pPoss;
for (int j=1;j<=8;j++) {
if (zellefj-1] & & spaltefi-1] & & diagl[i+j-2] & & diag2[i-j+7]) {
pos[i-1]=j-1;
zelldj-1]=fase
spalte[i-1]=falsg;
diagl[i+j-2]=fase;
diag2[i-j+7]=fase;
if (1I==8) {
posl=pos[0]+1;
pos2=pos[1]+1;
pos3=pog[ 2] +1;
posA=pos[3]+1;
pos5=pos{4]+1;
pos6=pog 5] +1;
pos7/=pos[6]+1;
pos8=pos[7]+1;
System.out.printin("A"+posl+" B"+pos2+" C"+pos3+" D"+pos4+" E"+pos5+"
F'+pos6+" G"+pos/+" H"+pos8);

}
else

positioniere(i+1, pos, zelle, spalte, diagl, diag2);
pos[i-1]=-1;

zellgj-1]=true;
spalte]i-1]=true;
diagl[i+j-2]=true;
diag2[i-j+7]=true;



